
Walter Lehmann, CH 6353 Weggis

1 of 3

MAT 90 / 95 / 900 Spare Parts

All items are subject to prior sale.  Prices & availability on request !

MAT – P/N I t e m 

021410 CLAMPING SCREW, PFEIFFER
021930 GEARED PUMP WITH MOTOR, PRE-USED, OK
022420 POWER SUPPLY PFEIFFER TCP 300, PRE-USED, OK
144150 COOLING WATER MONITOR, PFEIFFER TCW 002
185830 SET PIN, S.S., 2 X 12
220970 SEM-SYSTEM, R 17A (PRE-USED, IN GOOD CONDITION)
352790 CABLE FOR LEYBOLD TR 201A
353160 CABLE FOR IONIZATION GAUGE IE 21
424770 BUSH, C-PTFE, 
425630 SPACER, CERAMIC, 5.0 / 3.21 X 25.9
430960 PLATE SPRING, 9 / 5.2 
432490 GASKET, FTPE, 45 / 22 X 0.25   (see 693840)
443910 GASKET, PTFE, 85 / 80 X 0.25   (see 693830)
450680 SCREW, S.S., M 2 X 3
450690 SCREW, S.S., M 2 X 4
450710 SCREW, S.S., M 2 X 6
452730 SCREW, S.S., M 1.4 X 3
453120 SCREW, S.S., M 2 X 12
453650 SCREW, S.S., M 2 X 6
454230 SCREW, S.S., M 2 X 10
457800 SCREW, S.S., M 1.4 X 10
457840 SCREW, S.S., M 1.4 X 5
457990 COUNTER SUNK SCREW, S.S., M 1.4 X 3
460210 NUT, S.S., M 2
470010 WASHER, S.S., M 2

FITTING WASHER, S.S., 8 / 5.1 X 0.9
471260 FITTING WASHER, S.S., 8 / 5.1 X 1.0
471270 FITTING WASHER, S.S., 8 / 5.1 X 1.1
471280 FITTING WASHER, S.S., 8 / 5.1 X 1.2
471290 FITTING WASHER, S.S., 8 / 5.1 X 1.3

FITTING WASHER, S.S., 8 / 5.1 X 2.5
471750 WASHER, S.S., 9 / 5.2 X 0.5
472510 CLAMPING RING, ULTRA, DN40
473320 WASHER, S.S., M 1.4
480860
485280 BUSH, CERAMIC, AD 5.0 / 3.0 X 3.0
485281 BUSH, SAPPHIRE, AD 5.0 / 3.0 X 3.0
492530 GASKET, PTFE, 48 / 42 X 0.25   (see  693850)
492540 GASKET, PTFE, 90 / 75 X 0.25   (see  693860)
492780 GASKET, PTFE, 5 / 1.8 X 0.1
505700 CRUCIBLE, GLASS
521560 CLAMPING RING, DN25

SET PIN, S.S., 2 X 6



Walter Lehmann, CH 6353 Weggis

2 of 3

521830 CLAMPING RING, DN16
522140 CENTERING RING WITH O-RING, DN16
522150 CENTERING RING WITH O-RING, DN25
522200 REDUCTION RING WITH O-RING, FPM, DN16 - DN10
522430 FERRULE, GR, 1/4“
522440 FERRULE, PI, 1/4“
523880 CLAMPING SCREW
523930 FERRULE, V/G, 1/16 - 0.4 MM
524250 FERRULE, GR, 1/8“
524710 BLIND FLANGE, DN16
534500 METAL HOSE WITH DN16KF, L.0.5 M
545200 EMERGENCY VENT VALVE
550560 O-RING, NEOPREN, 7.92 X 1.78   (see 652130)
552940 SEALING RING, ULTRA, NW 40
553230 O-RING, FPM, DN16
553240 O-RING, FPM, DN25
553250 O-RING, FKM, DN 50
554660 O-RING, FKM, 10.82 X 1.78   (see  652170 / 652040)
554670 O-RING, FKM, 11 X 1.0   (see  652050)
559750 SOLENOID VALVE
559760 SOLENOID VALVE, NUPRO SS-4 BKT
561070 SPACER, CERAMIC, 8.0 / 5.1 X 1.0
561080 SPACER, CERAMIC, 8.0 / 5.1 X 3.0
561090 SPACER, CERAMIC, 8.0 / 5.1 X 7.0
561100 SPACER, CERAMIC, 8.0 / 5.1 X 5.0
561110 SPACER, CERAMIC, 8.0 / 5.1 X 11.0
561240 SPACER, CERAMIC, 8.0 / 5.1 X 2.0
561650 SPACER, CERAMIC, 5.0 / 3.2 X 1.5
561670 SPACER, CERAMIC, 5.0 / 3.2 X 7.5
562160 SPACER, SAPPHIRE, 3.2 / 1.6 X 1.0
568760 CRUCIBLE, AL
568770 CRUCIBLE HOLDER, AL
568780 CRUCIBLE, AL
574200 CRUCIBLE, AU/PT
576040 HEAT EXCHANGER
594190 SOURCE-HEATER
594510 COLUMN, CERAMIC, 5 X 62
632520 GASKET, FTPE, see  693760 / 644290
642600 GASKET, PTFE,  see  693800
642630 FILAMENT, T/R-WIRE, REPAIR PRICE
643290 SPACER, SAPPHIRE, 3.2 / 1.6 X 1.45
643300 SPACER, SAPPHIRE, 10.9 / 8.0 X 1.0
643790 TUBE, CERAMIC, 1.9 X 4.4
644170 FITTING WASHER, S.S., 8 / 5.1 X 1.4
644290 GASKET, PTFE, see 632520 / 693760)
644300 GASKET, PTFE, 64 / 60 X 0.25   (see  693770)
644310 GASKET, PTFE, 22.0 /18.0 X 0.25   (=  693750)
651240 O-RING, FKM, 60 X 5



Walter Lehmann, CH 6353 Weggis

3 of 3

651810 CENTERING RING, DN 100 ISO
651980 O-RING, FPM, DN100 ISO
652020 O-RING, FKM, 2.9 X 1.78 
652030 O-RING, FKM, 20 X 5    (= 551380)
652040 O-RING, FKM, 10.82 X 1.78
652050 O-RING, FKM, 11 X 1.0   (= 554670)
652060 O-RING, FKM, 120 X 4 
652070 O-RING, FKM, 4.47 X 1.78
652090 O-RING, FKM, 10 X 2
652100 O-RING, FKM, 12.37 X 2.62
652110 O-RING, FKM, 36 X 
652120 O-RING, FKM, 25 X 2.62
652130 O-RING, FKM, 7.65 X 1.78
652140 O-RING, FKM, 60 X 3
652150 Q-RING, FPM, 15.55 X 2.62
652160 O-RING, FKM, 530 X 5
652170 O-RING, FKM, 10.82 X 1.78   (see  652040)
652180 O-RING, FPM, 4.47 X 1.78
652190 O-RING, FKM, 6.07 X 1.78   (=  552180)
652380 WASHER, S.S., M 1.4
652940 GASKET, PTFE, 76 / 70 X 0.25   (see  693780)
653620 GASKET, PTFE, 558 / 530 X 0.5
654020 SPACER, SAPPHIRE, 6 / 4.1 X 1.0
654200 SCREW, S.S., M 3 X 5
664230 TRANSFER LINE COMPLETE, PRE-USED, OK
692740 Q-RING, FKM, 4.47 X 1.78
692750 Q-RING, FKM, 6.07 X 1.78 
692770 Q-RING, FKM, 15.55 X 2.62
692780 Q-RING, FKM, 32.92 X 3.53
693750 GASKET, PTFE, 22.0 /18.0 X 0.25   (=  644310)
693760 GASKET, PTFE, 45 / 41 X 0.25   (see 632520 / 644290)
693770 GASKET, PTFE, 64 / 60 X 0.25   (see  644300)
693780 GASKET, PTFE, 76 / 70 X 0.25   (see  652940)
693790 GASKET, PTFE, AD 88 / 84 X 0.25
693800 GASKET, PTFE, AD 124 / 120 X 0.25   (see  642600)
693830 GASKET, PTFE, 85 / 80 X 0.25   (see  443910)
693840 GASKET, FTPE, 45 / 22 X 0.25   (see 432490)
693850 GASKET, PTFE, 48 / 42 X 0.25   (see  492530)
693860 GASKET, PTFE, 90 / 75 X 0.25   (see  492540)
744800 TUBE, CERAMIC
776430 POWER SUPPLY PFEIFFER TCP 300
910450 THREADED SLEEVE
911060 SOCKET WRENCH, S.S.
923080 IONIZATION GAUGE, LEYBOLD IE 21 (PRE-USED, OK)
923090 VACUUM GAUGE, LEYBOLD TR 201A (PRE-USED, OK)
1062930 SCREW, S.S., M 1.4 X 4


	Tabelle1

